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HEIGHTS AND DISTANCES

1. The length of shadow of a tower on the

plane ground is /3 times the height of the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fzrHdrkTlik7

tower. The angle of elevation of sun is 45° (b)

30° (c) 60° (d) 90°

° Watch Video Solution

2. The angle of elevation of the of a tower at a
distance of 120 m from its foot on a horizontal
plane is found to be 30° . Find the height of

the tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_fzrHdrkTlik7
https://dl.doubtnut.com/l/_RZcQzS7E3y72

3. A guard observes an enemy boat, from an
observation tower at a height of 180 m above
sea level, to be at an angle of depression of
29°

Calculate, to the nearest metre, the distance
of the boat from the foot of the observation

tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_1QSa0YEPB2EI

4. A guard observes an enemy boat, from an
observation tower at a height of 180 m above
sea level, to be at an angle of depression of
29°

After some time, it is observed that the boat is
200 m from the foot of the observation tower.

Calculate the new angle of depression.

o Watch Video Solution



https://dl.doubtnut.com/l/_sklAI3D0xcTP

5. Two people standing on the same side of a
tower in a straight line with it, measure the
angles of elevation of the top of the tower as
25° and 50° respectively. If the height of the
tower is 70 m, find the distance between the

two people

o Watch Video Solution

6. The shadow of a vertical tower on level

ground increases by 10 metres, when the


https://dl.doubtnut.com/l/_VGe6XtwOrlD7
https://dl.doubtnut.com/l/_Bw5Kk79Ct8TV

altitude of the sun changes from angle of
elevatin 45° — 30°. Find the height of the
tower, correct to one place of decimal.

(Take,/3 = 1. 73

° Watch Video Solution

7. An observer on the top of a cliff, 200 m
above the sea-level, observes the angles of
depression of the two ships to be

45° and 30° respectively. Find the distance


https://dl.doubtnut.com/l/_Bw5Kk79Ct8TV
https://dl.doubtnut.com/l/_pbKGKLb9LReP

between the ships, if the ships are

on the same side of the cliff,

° Watch Video Solution

8. An observer on the top of a cliff, 200 m
above the sea-level, observes the angles of
depression of the two ships to be
45° and 30° respectively. Find the distance
between the ships, if the ships are

on the opposite sides of the cliff

° Watch Video Solution



https://dl.doubtnut.com/l/_pbKGKLb9LReP
https://dl.doubtnut.com/l/_NjDCIBuIcYrJ

9. A man on the top of a vertical tower
observes a car moving at a uniform speed
coming directly towards it. If it takes 12
minutes for the angle of depression to change
from 30° — 45°, how soon after this will the
car reach the tower? Give your answer to the

nearest second.

o Watch Video Solution



https://dl.doubtnut.com/l/_NjDCIBuIcYrJ
https://dl.doubtnut.com/l/_P1TkJHAtsHTT

10. The angle of elevation of a stationary cloud
from a point 25 m above a lake is 30° and the
angle of depression of its reflection in the lake
is 60° . What is the height of the cloud above

that lake-level ?

o Watch Video Solution

11. From a point on the ground, the angle of
elevation of the top of a vertical tower is

3
found to be such that its tangent is 5 On


https://dl.doubtnut.com/l/_PMchV3GgEBLN
https://dl.doubtnut.com/l/_MKWlOqMYTK8N

walking 50 m towards the tower, the tangent

of the new angle of elevation of the top of the
4

tower is found to be 5 Find the height of the

tower.

o Watch Video Solution

12. A vertical pole and a vertical tower are on
the same level ground in such a way that from
the top of the pole the angle of elevation of
the top of the tower is 60° and the angle of

depression of the bottom of the tower is 30° .


https://dl.doubtnut.com/l/_MKWlOqMYTK8N
https://dl.doubtnut.com/l/_SeGJq7Ep0e9X

Find :
the height of the tower, it the height of the

poleis 20 m,

o Watch Video Solution

Exercise 22 A

1. The height of a tree is /3 times the length
of its shadow. Find the angle of elevation of

the sun

o Watch Video Solution



https://dl.doubtnut.com/l/_SeGJq7Ep0e9X
https://dl.doubtnut.com/l/_EhPuWNHHpvZJ

2. The angle of elevation of the top of a tower.
from a point on the ground and at a distance
of 160 m from its foot, is find to be 60° . Find
the height of the tower .

A .277.12m

B.377.12 m

C.477.12 m

D. None

Answer: A


https://dl.doubtnut.com/l/_EhPuWNHHpvZJ
https://dl.doubtnut.com/l/_ALPhnm9nzNZk

° Watch Video Solution

3. A ladder is placed along a wall such that its
upper end is resting against a vertical wall.
The foot of the ladder is 2.4 m from the wall
and the ladder is making an angle of 68° with
the ground . Find the height, upto which the

ladder reaches.

o Watch Video Solution



https://dl.doubtnut.com/l/_ALPhnm9nzNZk
https://dl.doubtnut.com/l/_7x9r68SV5eLX

4. The persons are standing on the opposite
sides of a tower. They observe the angles of
elevation of the top of the tower to be
30° and 38° respectively. Find the distance
between them, if the height of the tower is 50

m

o Watch Video Solution

5. A kite is attached to a string. Find the length

of the string , when the height of the kite is 60


https://dl.doubtnut.com/l/_wUh9mj9qDmdV
https://dl.doubtnut.com/l/_VAdTXHr5F3EW

m and the string makes an angle 30° with the

ground .

° Watch Video Solution

6. A boy, 1.6 m tall, is 20 m away from a tower
and observes the angle of elevation of the top
of the tower to be 45° then find the height of

tower

o Watch Video Solution



https://dl.doubtnut.com/l/_VAdTXHr5F3EW
https://dl.doubtnut.com/l/_YiqDKn8B68IY

7. A boy, 1.6 m tall, is 20 m away from a tower
and observes the angle of elevation of the top
of the tower to be

60° . Find the height of the tower in each case

o Watch Video Solution

8. The upper part of a tree, broken over by the
wind. makes an angle of 45° with the ground ,
and the distance from the root to the point

where the top of the tree touches the ground.


https://dl.doubtnut.com/l/_CFj9nMQHMpoL
https://dl.doubtnut.com/l/_cERAnfKQdDLr

is 1.5 m. What was the height of the tree

before it was broken ?

° Watch Video Solution

9. The angle of elevation of the top of an
unfinished tower from a point at a distance of
80 m from its base is 30° . How much higher
must the tower be raised so that its angle of

elevation as the same point may be 60°

° Watch Video Solution



https://dl.doubtnut.com/l/_cERAnfKQdDLr
https://dl.doubtnut.com/l/_4NiiDKCxdWwB
https://dl.doubtnut.com/l/_jbOoQA7hKtLp

10. At a particular time , when the sun's
altitude is 30° , the length of the shadow of a
vertical tower is 45 m . Calculate :

(i) the height of the tower ,

(i) the length of the shadow of the same
tower, when the sun's altitude is :

(a) 45° , (b) 60°

o Watch Video Solution

11. Two vertical poles are on either side of a

road. A 30 m long ladder is placed between


https://dl.doubtnut.com/l/_jbOoQA7hKtLp
https://dl.doubtnut.com/l/_HXIl3HjhIYBd

the two poles. When the ladder rests against
one pole, it makes angle 32° 24" with the pole
and when it is turned to rest against another
pole, it makes angle 32°24" with the road .

Calculate the width of the road.

o Watch Video Solution

12. Two climbers are at points A and B on a
vertical cliff face. To an observer C, 40 m from

the foot of the cliff, on the level ground . A is


https://dl.doubtnut.com/l/_HXIl3HjhIYBd
https://dl.doubtnut.com/l/_4bFM7thTJkKw

at an elevation of 48° and B of 57° . What is

the distance between the climbers ?

° Watch Video Solution

13. A man stands 9 m away from a flag-pole. He
observes that angle of elevation of the top of
the pole is 28° and the angle of depression of
the bottom of the pole is 13° .Calculate the

height of the pole .

° Watch Video Solution



https://dl.doubtnut.com/l/_4bFM7thTJkKw
https://dl.doubtnut.com/l/_VpnyEp5YSg0X
https://dl.doubtnut.com/l/_5emcMpn9RqGq

14. From the top of a cliff 92 m high. the angle
of depression of a buoy is 20° . Calculate, to
the nearest metre, the distance of the buoy

from the foot of the cliff

o Watch Video Solution

Exercise 22 B

1.In the figure, given below, it is given that AB
is perpendicular ot BD and is of length X

metres. DC = 30 m,


https://dl.doubtnut.com/l/_5emcMpn9RqGq
https://dl.doubtnut.com/l/_uqItA6qHiC3B

/ADB = 30° and ZACB = 45°.

using tables, find X

A.30.98 m

B.40.98 m

C.60.98 m

D. None

Answer: B

Without

° Watch Video Solution



https://dl.doubtnut.com/l/_uqItA6qHiC3B

2.Find the height of a tree it is found that on
walking away from is 20 m, in a horizontal line

through is base , the elevation of its top

changes from 60°t030°

o Watch Video Solution

3. Find the height of a building, when it is
found that on walking towards it 40 m in a
horizontal line through its base the angular

elevation of its top changes from 30° to45°


https://dl.doubtnut.com/l/_uqItA6qHiC3B
https://dl.doubtnut.com/l/_bO0Sc8RKhnYA
https://dl.doubtnut.com/l/_AhN9bBCchWqi

° Watch Video Solution

4.From the top of a light house 100 m high, t
he angles of depression of two ships are
observed as 48° and 36° respectively. Find
the distance between the two ships (in the
nearest metre) if :

the ships are on the same side of the light

house.

° Watch Video Solution



https://dl.doubtnut.com/l/_AhN9bBCchWqi
https://dl.doubtnut.com/l/_rRU5UvQL6TRS
https://dl.doubtnut.com/l/_BvfOPix6fFcR

5. From the top of a light house 100 m high, t
he angles of depression of two ships are
observed as 48° and 36° respectively. Find
the distance between the two ships (in the
nearest metre) if :

the ships are on the same side of the light

house.

o Watch Video Solution

6. Two pillars of equal heights stand on either

side of a roadway, which is 150 m wide. At a


https://dl.doubtnut.com/l/_BvfOPix6fFcR
https://dl.doubtnut.com/l/_oyJTyDLaScVT

point in the roadway between the pillars the
elevations of the tops of the pillars are

60° and 30° . Find the height of the pillars

and the position of the point

° Watch Video Solution

7. From the figure, given below . calculate the

length of CD


https://dl.doubtnut.com/l/_oyJTyDLaScVT
https://dl.doubtnut.com/l/_Xm4yNNFHeAyh

o Watch Video Solution

8. The angle of elevation of the top of a tower
is observed to be 60° . At a point , 30 m
vertically above the first point of observation,
the elevation is found to be 45° . Find :

the height of the tower



https://dl.doubtnut.com/l/_Xm4yNNFHeAyh
https://dl.doubtnut.com/l/_C5r3BJ99jvA3

o Watch Video Solution

9.The angle of elevation of the top of a tower
is observed to be 60° . At a point , 30 m
vertically above the first point of observation,
the elevation is found to be 45° . Find :

its horizontal distance from the points of

observation.

o Watch Video Solution



https://dl.doubtnut.com/l/_C5r3BJ99jvA3
https://dl.doubtnut.com/l/_dUmaRjvQNMgH

10. From the top of a building 60m high the
angles of depression of the top and the
bottom of a tower are observed to be 300 and

600 . Find the height of the tower.

o Watch Video Solution

11. A man on a cliff observes a boat, at an angle
of depression 30° , which is sailing towards
the shore to the point immediately beneath

him. Three minutes later, the angle of


https://dl.doubtnut.com/l/_D8WILRS7NlCH
https://dl.doubtnut.com/l/_nnP7fgieZH6e

depression of the boat is found to be 60° .
Assuming that the boat sails at a uniform
speed, determine.

how much more time it will take to reach the

shore ?

o Watch Video Solution

12. A man on a cliff observes a boat, at an
angle of depression 30° , which is sailing
towards the shore to the point immediately

beneath him. Three minutes later, the angle of


https://dl.doubtnut.com/l/_nnP7fgieZH6e
https://dl.doubtnut.com/l/_fnGJtjilIP3l

depression of the boat is found to be 60° .
Assuming that the boat sails at a uniform
speed, determine.

the speed of the boat in metre per second if

the height of the cliff is 500 m

o Watch Video Solution

13. A man in a boat rowing away from a
lighthouse 150 m high, takes2 minutes to

change the angle of elevation of the top of the


https://dl.doubtnut.com/l/_fnGJtjilIP3l
https://dl.doubtnut.com/l/_CvfL9RbSXM7x

lighthouse from 60° to 45° . Find the speed of

the boat .

o Watch Video Solution

14. A person standing on the bank of a river
observes that the angle of elevation of the top
of a tree standing on the opposite bank is 60°.
When he move 40 metres away from the bank,
he finds the angle of elevation to be 30°. Find
the height of the tree and the width of the

river.

| e |


https://dl.doubtnut.com/l/_CvfL9RbSXM7x
https://dl.doubtnut.com/l/_EvtI4rLDlf3m

& Wwatch Video Solution I

15. A person standing on the bank of a river
observes that the angle of elevation of the top
of a tree standing on the opposite bank is 60°.
When he move 40 metres away from the bank,
he finds the angle of elevation to be 30°. Find
the height of the tree and the width of the

river.

° Watch Video Solution



https://dl.doubtnut.com/l/_EvtI4rLDlf3m
https://dl.doubtnut.com/l/_wr7WJT6BinXL

16. The horizontal distance between two
towers is 75 m and the angular depression of
the top of the first tower as see from the top
of the second, which is 160 m high, is 45° .
Find the height of the first tower.

A.80m

B.81m

C.8m

D. None

Answer: C


https://dl.doubtnut.com/l/_Gge39J3iPEdq

° Watch Video Solution

17. The length of the shadow of a tower
standing of level plane is found to be 2y
metres longer when the sun's altitude is 30°
then when it was 45° . Prove that the height

of the tower is y(+/3 + 1) metres

° Watch Video Solution



https://dl.doubtnut.com/l/_Gge39J3iPEdq
https://dl.doubtnut.com/l/_7Rd45evySASM

18. An aeroplane flying horizontally 1 km above
the ground is observed at an elevation of 600 .
After 10 seconds, its elevation is observed to

be 300 . Find the speed of the aeroplane in

km/hr.

o Watch Video Solution

19. From the top of a hill, the angles of
depression of two consecutive kilometre

stones, due east, are found to Dbe


https://dl.doubtnut.com/l/_nFCKiRTwDb6l
https://dl.doubtnut.com/l/_4ntPrH2K1wQJ

30° and 45° respectively. Find the distance of

the two from the foot of the hill

° Watch Video Solution

Exercise 22 C

1. Find AD
A
E
cl2 0



https://dl.doubtnut.com/l/_4ntPrH2K1wQJ
https://dl.doubtnut.com/l/_zx4l20B5BwKd

o Watch Video Solution

2.Find AD
B A
; //
o /
= S
.‘J : - é’Lw__ “ o

o Watch Video Solution

3.In the following diagram, AB is a floor-board,

PQORS is a cubical box with each edge =1 m and


https://dl.doubtnut.com/l/_zx4l20B5BwKd
https://dl.doubtnut.com/l/_91JBaOqbyEpA
https://dl.doubtnut.com/l/_DggfUCC3OIvG

/B = 60° . Calculate the length of the board

AB
4
E
J
/
S
y
/
’/
-
"o

o Watch Video Solution



https://dl.doubtnut.com/l/_DggfUCC3OIvG

4. Calculate BC

A
A
a2
€
&8
-)u. ‘,' L
8 c 0

o Watch Video Solution

5. Calculate AB



https://dl.doubtnut.com/l/_DwSvuz3jkwLB
https://dl.doubtnut.com/l/_Y9KQ6pyUOHom

| ¥ Watch Video Solution |

6. The radius of a circle is given as 15 cm and
chord AB subtends an angle of 131° at the
centre C of the circle . Using trigonometry.
calculate :

the length of AB,

o Watch Video Solution

7. The radius of a circle is given as 15 cm and

chord AB subtends an angle of 131° at the


https://dl.doubtnut.com/l/_Y9KQ6pyUOHom
https://dl.doubtnut.com/l/_W16IP98JFQz9
https://dl.doubtnut.com/l/_whKyzbtFB71B

centre C of the circle . Using trigonometry.
calculate :

the length of AB,

° Watch Video Solution

8. At a point on level ground, the angle of
elevation of a vertical tower is found to be
such that its tangent is 5/12 . On walking 192
metres towards the tower, the tangent of the
angle of elevation is 3/4 . Find the height of

the tower.

| e |


https://dl.doubtnut.com/l/_whKyzbtFB71B
https://dl.doubtnut.com/l/_YI7wwZPi41bZ

& Wwatch Video Solution I

9. A vertical tower stands on a horizontal
plane and is surmounted by a vertical flag staff
of height h. At a point on the plane, the angles
of Elevation of the bottom and the top of the

flag staff are a and f respectively. Prove that

htan o

the height of the tower is
tan 8 — tan«

o Watch Video Solution



https://dl.doubtnut.com/l/_YI7wwZPi41bZ
https://dl.doubtnut.com/l/_kiGgK2kXwgRX

10. With reference to the given figure, a man
stands on the ground at point A, Which is on
the same horizontal plane as B, the foot of the
vertical pole BC. The height of the pole is 10 m
. The man's eye is 2 m above the ground. He
observes the angle of elevation of C, the top of

the pole,as ° ,where tan £° = — . Calculate

5


https://dl.doubtnut.com/l/_pdO42QZGu0FK

A

»
' —
—

v

7

0
£
A

e

the distance AB in metres ,

° Watch Video Solution

11. With reference to the given figure, a man
stands on the ground at point A, Which is on
the same horizontal plane as B, the foot of the
vertical pole BC. The height of the pole is 10 m

. The man's eye is 2 m above the ground. He


https://dl.doubtnut.com/l/_pdO42QZGu0FK
https://dl.doubtnut.com/l/_MKRi86cz2RFa

observes the angle of elevation of C, the top of

the pole,as ° ,wheretan x° = T . Calculate

)y

/c
p

»
- 0
-
B |

0
A Oe

angle of elevation of the top of the pole when
he is standing 15 metres from the pole. Give

your answer to the nearest degree.

° Watch Video Solution



https://dl.doubtnut.com/l/_MKRi86cz2RFa

12. The angles of elevation of the top of a
tower from two points at a distances a meter
and b metres from the base of the tower and
in the same straight line with it are
complementary. Prove that the height of the

tower is 4/ab metres.

o Watch Video Solution

13. From a window A, 10 m above the ground

the angle of elevation of the top C of a tower


https://dl.doubtnut.com/l/_gKxDhkdKDZsN
https://dl.doubtnut.com/l/_uigEfG113r0K

is x° , where tan z° = 3 and the angle of
depression of the foot D of the tower is y° of
the where tan y° = 1 (See the given figure)

.Calculate the height CD of the tower is metres

.L_,,v' '—;—_~‘o

o Watch Video Solution



https://dl.doubtnut.com/l/_uigEfG113r0K

14. A vertical tower is 20 m high. A man
standing at some distance from the tower
knows that the cosine of the angle of
elevation of the top of the tower is 0.53. How

far is he standing from the foot of the tower ?

o Watch Video Solution

15. A man standing on the bank of a river
observes that the angle of elevation of a tree

on the opposite bank is 60° . When he moves


https://dl.doubtnut.com/l/_rctMr0WNaPDT
https://dl.doubtnut.com/l/_zhH3I90rCshL

50 m away from the bank, he finds the angle of
elevation to be 30° . Calculate :

the width of the river and

o Watch Video Solution

16. A man standing on the bank of a river
observes that the angle of elevation of a tree
on the opposite bank is 60° . When he moves
50 m away from the bank, he finds the angle of
elevation to be 30° . Calculate :

the height of the tree.

| |


https://dl.doubtnut.com/l/_zhH3I90rCshL
https://dl.doubtnut.com/l/_JCHzVHmphEyU

& Watch Video Solution I

17. A 20 m high vertical pole and a vertical
tower are on the same level ground in such a
way that the angle of elevation of the top of
the tower, as seen from the foot of the pole, is
60° and the angle of elevation of the top of
the pole as seen from the foot of the tower is
30° . Find :

the height of the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_JCHzVHmphEyU
https://dl.doubtnut.com/l/_I7bpfCrpJ9Jx
https://dl.doubtnut.com/l/_ELzQqhWzZGBQ

18. A 20 m high vertical pole and a vertical
tower are on the same level ground in such a
way that the angle of elevation of the top of
the tower, as seen from the foot of the pole, is
60° and the angle of elevation of the top of
the pole as seen from the foot of the tower is
30° . Find :

the horizontal distance between the pole and

the tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_ELzQqhWzZGBQ
https://dl.doubtnut.com/l/_okSvEibmMPVH

19. A vertical pole and a vertical tower are on
the same level ground in such a way that from
the top of the pole the angle of elevation of
the top of the tower is 60° and the angle of
depression of the bottom of the tower is 30° .
Find :

the height of the tower, it the height of the

poleis 20 m,

° Watch Video Solution



https://dl.doubtnut.com/l/_okSvEibmMPVH

20. A vertical pole and a vertical tower are on
the same level ground in such a way that from
the top of the pole the angle of elevation of
the top of the tower is 60° and the angle of
depression of the bottom of the tower is 30° .
Find :

the height of the pole, if the height of the

tower is 75 m

o Watch Video Solution



https://dl.doubtnut.com/l/_YbJaSdT5LiU7

21. From a point 36 m above the surface of a
lake , the angle of elevation of a bird is
observed to be 30° and angle of depression of
its image in the water of the lake is observed
to be 60° . Find the actual of the bird above

the surface of the lake.

o Watch Video Solution

22. A man observes the angle of elevation of

the top of a building to be 30°. He walks


https://dl.doubtnut.com/l/_Lbd3bYgWTUXx
https://dl.doubtnut.com/l/_GunMxopS8F8Y

towards it in a horizontal line through its
base. On covering 60 m the angle of elevation
changes to 60°. Find the height of the

building correct to the nearest metre.

O Watch Video Solution

23. As observed from the top of a 80 m tall
lighthouse, the angle of depression of two
ships, on the same side of the light house in
horizontal line with its base, are 30° and 40°

respectively . Find the distance between the


https://dl.doubtnut.com/l/_GunMxopS8F8Y
https://dl.doubtnut.com/l/_0dvIQk98wNyJ

two ships. Given your answer correct to the

nearest metre

° Watch Video Solution

24. In the given figure, A from the top of a
building AB = 60 m high, the angles of
depression of the top and bottom of a vertical
lamp post CD are observed to be

30° and 60° respectively. Find :


https://dl.doubtnut.com/l/_0dvIQk98wNyJ
https://dl.doubtnut.com/l/_OeIIJwk4P4VY

ol

the horizontal distance between AB and CD

° Watch Video Solution

25. In the figure given, from the top of a
building AB = 60 m high, the angles of
depression of the top and bottom of a vertical

lamp post CD are observed to be


https://dl.doubtnut.com/l/_OeIIJwk4P4VY
https://dl.doubtnut.com/l/_0Skju6T0T6JC

30° and 60° respectively. Find :

(i) the height of the lamp post.

A e,

B

° Watch Video Solution

26. An aeroplane at an altitude of 250 m

observes the angle of depression of two boats


https://dl.doubtnut.com/l/_0Skju6T0T6JC
https://dl.doubtnut.com/l/_Ww21mc7jBw1Z

on the opposite banks of a river to be
45° and 60° respectively. Find the width of
the river. Write the answer correct to the

nearest whole number.

o Watch Video Solution

27.The horizontal distance between two tower
is 120 m. The angle of elevation of the top and
angle of depression of the bottom of the first
tower as observed from the second tower is

30° and 24° respectively.


https://dl.doubtnut.com/l/_Ww21mc7jBw1Z
https://dl.doubtnut.com/l/_uhE5NxmkYIXr

R N

Find the height of the two towers. Give youe

answer correct to 3 significant figures.

° Watch Video Solution



https://dl.doubtnut.com/l/_uhE5NxmkYIXr

28. The angles of depression of two ships a A
and B as observed from the top of a light
house 60 m high are 60° and 45°
respectively. If the two ships are on the
opposite sides of the light house, find the
distance between the two ships. Give your

answer correct to the nearest whole number.

o Watch Video Solution



https://dl.doubtnut.com/l/_PzPXvAusjr7t

